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full marks for the questions.

1. Answer the following questions as directed :
1x7=7

(a) Operations Research achieved
recognition as a subject for study in the
universities in the year

(i) 1953
(i) 1957
(iii) 1959
(iv) 1950

(Choose the correct option)
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(b) All constraints in an LPP as well as its
objective function must be linear in
nature. (State ‘True’ or ‘False’)

(¢/ In a LPP with m constraints in n
variables, the maximum number of basic

solutions are

M G

()R CE

(iil) S E

-(iv) None of the above

"(Choose the correct option)

(@)

A two-person zero-sum game means that

(i)  the sum of losses to one player is
equal to the sum of gains to other

(it) the sum of losses to one player is
not equal to the sum of gains to
other.

(@) Both (i) and (ij)

(iv) None of the above

(Choose the correct option)/

| @

(e) A mixed strategy game can be solved byié,‘

(i) algebraic method
(i) matrix method
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(iii) graphical method

: f the above .
O ik (Choose the correct option)

The solution to a transportation problem
with m rows (supplies) and n Coh.lmnsf
(destinations) 18 feasible if number o

positive allocations are
(1)
(i)
(ii1)
b (Choose the correct option)
In ABC analysis ‘A’ items requires
(i) no safety stock
(ii) low safety stock
(ii'i) moderate safety stock
i i fety stock '
() DA (E‘yhoose the correct option)

i tions : 2x4=8
Answer the following qu-es -
(a) Express the following LPP in standard

formmaxinize A =5x1 + 3x2 + 2)C3
subject to
3x, —2x, +4%3 <5

m+n
mn

m+n-1
m+n+l

(9)

2x1 +5x2 +3x3 >12

is
X%y >0 and x; 1
unrestricted in sign.
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(b) Deﬁne.: inventory. What is the objective (c) Define the following : 2+1+1+1=5
of an inventory problem?

(c) State the condition for the existence of (i) Competitive game

feasible solution to an mxn

; B :
transportation problem. () Pure strategy

(d) Define payoff matrix in context with (iii) Mixed strategy

th : '
A 7 (iv) n-person game

3. Answer any three from the following
questions : 5x3=15 (d) Define saddle point and value of game

. with examples.
(@) A firm manufactures two types of =i P

products A and B and sells them ata (e) Write a note on ABC analysis.
profit of Rs. 2 on type A and Rs.3 on bl
type B. Each product is processed on 4. Answer any three S iles flonsiiromitEhe

two machines M; and M, . Type A
requires one minute of processing time odheh Cones
on M, and two minutes on M,. Type B 8/ ' NG\ (@) Define slack and surplus variables.

requires one'minute on M, and one [T/ : ;
3 A=) Solve the foll
minute on M,.The machlne M, is |¢l : . Mg 2 Y SRl

following : 10x3=30

available for. not more than 6 hours 40 v\ /&5 Meltioek SHID
minutes while machine M, available for N Maximize Z=2x, +3x,
10 hours during working day Formulate Tl subject to x; +x, <1
the problem as a linear programming 3x,+x,<4
ro
problem. X, %, >0
(b) Explain Vogel’s approximation method (b) (i) Explain the principle of dominance
to solve transportation problem for an ~ in game theory. 5
initial basic feasible solution.
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~— [} What is economic

(i) A and B play game in which each

T

$74

has three coins Re.l, Rs.2 and
Rs.5. Each selects a coin without
the knowledge of the other’s choice.
If the sum of the coin is an odd
amount, A wins B’s coin and if the
sum is even, B wins A’s coin. Find
the best strategy for each player

and the value of the game. )
What are the characteristics of the
standard form of an LPP? 4

Solve the following LPP graphically :

6
Maximize Z= 5x, +3x,
subject to  3x, +5x, <15
Sx; +2x, <10
X,X%, 20

order quantity

(EOQ)? Obtain the economic order
quantity of an inventory problem where
lead time is zero, demand is uniform,
production is instantaneous and

shortages are not alllowed.

1+9=10
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(@)

Formulate mathematically a
transportation problem as a linear
programming problem having m
origins and n destinations. 4

Determine an initial basic feasible
solution . to the following
transportation problem using
Vogel’s method. 6

Origin

estination

D, D, D3 | supply

TSRS |17

7 11 2 12

19 20 9 16

e | 28
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Mention the differeat types of
inventory. 2

Explain various costs associated
with inventory control. 8
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